AP Biology 12
Concept 4: Analyzing how neurons, synapses and signalling allows the

 animal nervous system to transmit signals (Ch 48, 49)
You Must Know
· The anatomy of a neuron

· The mechanisms of impulse transmission in a neuron
· The process that leads to release of neurotransmitter, and what happens at the synapse

The Anatomy of a Neuron
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Transmission along a neuron[image: image3.png]



Resting Potential

· Axoplasm (inside of the axon) is negative = ________compared to the outside of the axon

· More sodium (Na+) outside and potassium (K+) inside due the _________________(protein)
· _____ sodium out for every _______potassium in

· Requires  _____________
· Which in turn requires  ________  

· The membrane is also permeable to these ions so they travel from ______to ___________concentrations (although, the membrane is more permeable to________)
· Overall ,the axoplasm is negative due to large negatively charge ___________
Action Potential

· Due to a stimulus reaching the _____________= ______or_________ response
· There is a rapid change in the polarity across the axomembrane during a nerve impulse
1. The sodium gated channel proteins open and sodium (Na+) flows ________the axoplasm
a.  _______ to ________
b.  = ___________________
2. Second the potassium gated channel proteins open and potassium (K+) flows _________of the axoplasm
a.  _________ to _________
b. = _________________
· The action potential moves down the axon like a __________________________
Refractory Period

· Sodium gates are _______________to open

· The sodium potassium pump is back in __________________
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